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QUESTION 1

Which two coach views can a developer use to show a list of ECM documents on a Coach?
A. BPM File List

B. ECM File Uploader

C. Document Explorer

D. BPM Document List

E. ECM Document List

Correct Answer: AE

QUESTION 2

What happens when an instance migrates from one snapshot to another and there is an activity in the old snapshot that
contains a token, but the activity does not exist in the new snapshot?

A. The token will be deleted

B. The token will become an Archived token

C. The token will become an Orphaned token.

D. The token will move to the next closest activity

Correct Answer: B

QUESTION 3

What is the definition of the “\\'item\\'\\' type shown in the diagram below?

e

ey

A. It must be completed by process participants

B. It uses JavaScript to access and manipulate data

C. It must be completed by an automated system or service

D. It uses JavaScript APIs to evaluate a condition in a business rule

Correct Answer: D
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QUESTION 4

Which logging command is used to print log statements to the system out logs?
A. log.wam(\\\\'info")

B. log.alert("info")

C. log.trace("info")

D. log.statement(\\'\\'infon)

Correct Answer: D

QUESTION 5

A loan application process has several activities. A developer noticed a Service Flow activity in that
process is taking a long time to complete. That particular Service Flow implementation has a Linked
Service Flow activity and few other activities in it.

What can the developer do to improve the performance of the Service Flow?

A. Enable caching of results for the top level Service Flow.

B. Attach a timer boundary event to the top level Service Flow.

C. Add tracking events before and after the top level Service Flow.

D. Assign pre-execution and post-execution scripts for the top level Service Flow.

Correct Answer: A
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